Confidentiality Requested:

Yes No

Kansas Corporation Commission Oil & Gas Conservation Division

1081770

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R 🗌 East 🗌 West
Address 2:	Feet from North / South Line of Section
City:	Feet from _ East / _ West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	GPS Location: Lat:, Long:
Name:	(e.g. xx.xxxxx) (e.gxxx.xxxxxx)
Wellsite Geologist:	Datum: NAD27 NAD83 WGS84
Purchaser:	County:
Designate Type of Completion:	Lease Name: Well #:
New Well Re-Entry Workover	Field Name:
	Producing Formation:
Oil WSW SWD SIOW	Elevation: Ground: Kelly Bushing:
☐ Gas ☐ D&A ☐ ENHR ☐ SIGW ☐ GSW ☐ Temp. Abd.	Total Vertical Depth: Plug Back Total Depth:
☐ OG ☐ ☐ GSW ☐ Temp. Abd. ☐ CM (Coal Bed Methane)	Amount of Surface Pipe Set and Cemented at: Feet
Cathodic Other (Core, Expl., etc.):	Multiple Stage Cementing Collar Used? Yes No
If Workover/Re-entry: Old Well Info as follows:	If yes, show depth set: Feet
•	If Alternate II completion, cement circulated from:
Operator:	feet depth to:w/sx cmt.
Well Name:	W SX CITIL
Original Comp. Date: Original Total Depth:	
Deepening Re-perf. Conv. to ENHR Conv. to SWD Plug Back Conv. to GSW Conv. to Producer	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Plug Back Colly. to G5vV Colly. to Produce	
Commingled Permit #:	Chloride content: ppm Fluid volume: bbls
Dual Completion Permit #:	Dewatering method used:
SWD Permit #:	Location of fluid disposal if hauled offsite:
ENHR Permit #:	Operator Name:
GSW Permit #:	Operator Name:
	Lease Name: License #:
Spud Date or Date Reached TD Completion Date or	QuarterSecTwpS. R East West
Recompletion Date Recompletion Date	County: Permit #:

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY				
Confidentiality Requested				
Date:				
Confidential Release Date:				
Wireline Log Received				
Geologist Report Received				
UIC Distribution				
ALT I II III Approved by: Date:				

1081770	

Operator Name:			Lease Name	9:		_ Well #:		
Sec Twp	S. R	East West	County:					
open and closed, flow	ving and shut-in press	formations penetrated sures, whether shut-in with final chart(s). Atta	pressure reached	static level, hydros	tatic pressures, bot		val tested, time tool erature, fluid recovery,	
		btain Geophysical Da or newer AND an ima			nailed to kcc-well-lo	ogs@kcc.ks.go	v. Digital electronic lo	
Orill Stem Tests Taker		Yes No			tion (Top), Depth a		Sample	
Samples Sent to Geo	logical Survey	☐ Yes ☐ No		lame		Тор	Datum	
Cores Taken Electric Log Run		Yes No						
ist All E. Logs Run:								
			NG RECORDset-conductor, surface	New Used	otion ata			
Durnous of String	Size Hole	Size Casing	Weight	Setting	Type of	# Sacks	Type and Percent	
Purpose of String	Drilled	Set (In O.D.)	Lbs. / Ft.	Depth	Cement	Used	Additives	
		ADDITIO	NAL CEMENTING / S	SQUEEZE RECOR	 D			
Purpose:	Depth	Type of Cement	# Sacks Used	# Sacks Used Type and Percent Additives				
Perforate Protect Casing	Top Bottom							
Plug Back TD								
Plug Off Zone								
Did you perform a hydrai	ulic fracturing treatment	on this well?		Yes	No (If No, sk	ip questions 2 ar	nd 3)	
oes the volume of the t	otal base fluid of the hyd	Iraulic fracturing treatmer	nt exceed 350,000 gal	ons? Yes	No (If No, sk	ip question 3)	•	
Vas the hydraulic fractur	ring treatment informatio	n submitted to the chemi	cal disclosure registry	? Yes	No (If No, fill	out Page Three	of the ACO-1)	
Shots Per Foot		ON RECORD - Bridge F			racture, Shot, Cemen			
	Specify	Footage of Each Interval	Periorated	(Amount and Kind of Ma	aterial Used)	Depth	
TUBING RECORD:	Size:	Set At:	Packer At:	Liner Run:	Yes No			
Date of First, Resumed	Production, SWD or EN			Cooliit	Other (Fundain)			
Estimated Draductic	0"	Flowing		Gas Lift	Other (Explain)	Con Oil Dell	O: "	
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf	Water	Bbls.	Gas-Oil Ratio	Gravity	
DISPOSITI	ON OF GAS:		METHOD OF COM	IPLETION:		PRODUCTIO	ON INTERVAL:	
Vented Solo		Open Hole	Perf. D	ually Comp. C	ommingled			
	bmit ACO-18.)	Other (Specify	•	mit ACO-5) (St	ubmit ACO-4)			

Form	ACO1 - Well Completion
Operator	Val Energy, Inc.
Well Name	CIRCLE INDUSTRIES 4-32
Doc ID	1081770

Casing

Purpose Of String	Size Hole Drilled	Size Casing Set	Weight		Type Of Cement		Type and Percent Additives
SURFACE	12.25	8.675	24	222	60/40	190	
PRODUC TION	7.675	5.5	15.5	4754	AA2	125	



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Val Energy, Inc. 200 W. Douglas STE #520 Wichita, KS 67202

Page:

RECEIVED APR 2 8 2012



INVOICE

1

Apr 20, 2012

Invoice Number: 130909

Invoice Date:

	Well Name/# or Gustoner PO.		t Terms
Val	Circle Indust. 4-32	Net 30	Days
Job Location	Gamp Location	Service Date	Due Date
KS1-01	Medicine Lodge	Apr 20, 2012	5/20/12

. 🖃 Quantity. 🕟	i Item	Description versus and the second	Unit Price	Amounts -
111.00	MAT	Class A Common	16.25	1,803.75
74.00	MAT	Pozmix	8.50	629.00
3.00	MAT	Gel	21.25	63.75
6.00	MAT	Chloride	58.20	349.20
194.00	SER	Handling	2.25	436.50
20.00	SER	Ton Miles	21.34	426.80
1.00	SER	Surface	1,125.00	1,125.00
20.00	SER	Heavy Vehicle Mileage	7.00	140.00
1.00	SER	Manifold Swedge Rental	200.00	200.00
20.00	SER	Light Vehicle Mileage	4.00	80.00
1.00	EQP	8 5/8 Wooden Plug	92.00	92.00
1.00	EQUIP OPER	Jason Thimesch		
1.00	EQUIP OPER	Brett Goins		
1.00	OPER ASSIST	Troy Lenz		
		}		
		Subtotal		5 346 00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



Subtotal	5,346.00
Sales Tax	214.45
Total Invoice Amount	5,560.45
Payment/Credit Applied	
TOTAL	5/560/45



ALLIED OIL & GAS SERVICES, LLC 054093

Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

						_/	Medicine L	odse KS
DATE 04/18/2012	SEC.	TWP.	RANGE /0,	CALLED OUT	ON LOCATION	JOB	START	JOB FINISH 530AM
Circle LEASE Inductives	WELL# 4	1-32	LOCATION C-	Mane, East to	. / ±	çoı	JNTY	STATE
OLD OR (NEW) (Cir	rcle one)		1/2 32.	Tiane, East 50	Lonevee,	Par	ber	I K3
-22 31 (01) (01)			North 74)	East into				
CONTRACTOR V	al #	12		OWNER 1/2	1 Energy			
TYPE OF JOB Sag	rfacr							
HOLE SIZE 121	4	T.D	. 227	CEMENT				
	59	DE	PTH 227	AMOUNT O	RDERED 185	sk la	0:40:3	3% cc+
TUBING SIZE		DE	PTH	2% Gel				
DRILL PIPE			PTH					
TOOL			PTH					
PRES. MAX			MUMUM	COMMON (1803.75
MEAS. LINE	CCC 12		DE JOINT	POZMIX _			8.50	629
CEMENT LEFT IN PERFS.	<u> </u>			GEL			21,25	
DISPLACEMENT	13/2			CHLORIDE			58.20	<u>349.20</u>
DISTLACEMENT				ASC		@_		
	EQU	IPMENT				@_		
						— ̈́ -		
PUMPTRUCK (CEMENTE	R Jason	Hinerch			@-		
	HELPER B	rett Ga	ins			_ @ - @		
BULK TRUCK		1				 		
# 764 I	DRIVER 7	Iroy L	enz	·		_ @ - @		
BULK TRUCK						_ @ -		
#	DRIVER			HANDLING	194		2, 25	436.50
					194 X 20 X , 11	_ ~ -		426.80
-	≠ REN	AARKS:					TOTAL	3709
Did Circ	Cen	ont					IOTAL	
					SERV	ICE		
				DEPTH OF J	OB <u>227</u>			
					CK CHARGE			1,125
				EXTRA FOC		@_		
				MILEAGE_	<u></u>	@_	7.00	140
	·			— MANIFOLD		@_		200
				LV	2.0)@_	400	80
	1 🖛				<u>.</u>	@_		
CHARGE TO: <u>V</u>	11 the	rgy	<u> </u>					. 🖛 4 . =
STREET							TOTAL	1545
								-
CITY	STA	TE	ZIP		DI IIC & ET C.	The State of		/3 1
					PLUG & FLOA	ı eQ	OTEMEN.	I.
				1.1	Ol.		<u> </u>	
				Wooden	Plug 1	@	92	92
To Alliad On a C	300 St '			· · · · · · · · · · · · · · · · · · ·		@-	-	
To: Allied Oil & C					 	_ w		
You are hereby rec	quested to	rent cen	ienting equipme	ent ———		_ ഴ _ _		
and furnish cemen	ter and he	erper(s) to) assist owner or	·		₩_		
contractor to do w							m	92
done to satisfactio							TOTAL	92
contractor. I have					/15 A			
TERMS AND CO	NDITION	VS" listed	on the reverse s		(If Any)			
		_		TOTAL CHA	RGES 5346	,		
PRINTED NAME_	Rick	S,	with					
			16	DISCOUNT			_ IF PAIL) IN 30 DAYS
SIGNATURE ()	/ - m	X	H					
SITEMATERIDE 17	и/	/ \	11/					



PAGE	CUST NO	INVOICE DATE					
1 of 1	1004409	04/26/2012					
	INVOICE NUMB	ER					
1718 - 90889751							

Pratt

(620) 672-1201

LEASE NAME

Circle Industries

4-32

B VAL ENERGY

1 200 W DOUGLAS AVE STE RECEI

LOCATION COUNTY

JOB CONTACT

Barber

 $_{\mathbf{L}}^{-}$ WICHITA

E DETATE

KS

KS US

67202

APR 2 8 2012 E

JOB DESCRIPTION

Cement-New Well Casing/Pi

o ATTN:

ACCOUNTS PAYABLE

јов #	JOB # EQUIPMENT # PURCHAS		ORDER NO.		TE	RMS	DUE DATE		
40456732	19843				Net -	30 days	05/26,	/2012	
			QTY	U of M	UNIT	PRICE	INVOICE	TRUOMA	
For Service Dates	:: 04/24/2012 to 04	/24/2012		••					
0040456732									
171806257A Ceme	ent-New Well Casing/Pi 0	4/24/2012							
Cement 5 1/2" Long	string								
10 mm	and the second s		·						
AA2 Cement			125.00			14.45		1,806.31	
60/40 POZ			50.00			10.20		510.02	
C-41P			30.00	·		3.40		102.00	
Salt			571.00			0.43		242.68	
C-44			118.00	EA		4,38		516.56	
FLA-322			95.00	EA		6.38		605.65	
Gilsonite			625.00			0.57		355.95	
Super Flush II			500.00	EA	i	1.30		650.27	
"Top Rubber Cmt Plu	- '		1.00	EA		89.25		89.2	
"Guide Shoe - Regula			1.00	EA		212.51		212.5	
"Turbolizer, 5 1/2""			5.00	EA		93.50		467.5	
"5 1/2"" Basket (Blu	ie)"		1.00	EA		246.51		246.5	
Flapper type Insert F			1.00	EA		182.76		182.7	
"Unit Mileage Chg (P	PU, cars one way)"		45.00	MI		3.61		162.5	
Heavy Equipment Mi	•		90.00	MI		5.95		535.5	
"Proppant & Bulk De	l. Chgs., per ton mil		362,00	EA		1.36		492.3	
Depth Charge; 4001			1.00	EA		2,142.06		2,142.0	
Blending & Mixing Se	ervice Charge		175.00	BAG		1.19		208.2	
Plug Container Util. (_		1.00			212.51		212.5	
"Service Supervisor,	first 8 hrs on loc.		1.00	EA		148.76		148.7	
a de la companya de			. 7						
Section 1985								1. 1. 1. 1.	

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

PO BOX 10460 MIDLAND, TX 79702

SUB TOTAL

9,890.01 349.63

TAX

INVOICE TOTAL

10,239.64

10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET

1718 06257 A

F	PRESSURE	PUMI	PING & WIRELINE	DATE TICKET NO								
DATE OF JOB	DISTRICT	NEW OLD PROD INJ WDW CUSTOMER WELL ORDER NO.:										
CUSTOMER	NERGY, INC.	LEASE CIRCLE INDUSTRIES WELL NO.4-3.										
ADDRESS		COUNTY BARBER STATE KS.										
CITY	STATE	SERVICE CREW LESLEY, MARGILEZ, LAURENCE										
AUTHORIZED B	Y				JOB TYPE: (NL.)-51/z	″Z . S			╛	
EQUIPMENT		IRS	EQUIPMENT#	HRS	EQ	UIPMENT#	HRS	TRUCK CALI	ED 23</td <td>DATI</td> <td>F ARM TIME</td> <td></td>	DATI	F ARM TIME	
37586		욋	_	-				ARRIVED AT	JOB		PM // CX	>
19889-1989		J	***					START OPE	RATION / / d	24-1	2 AM 4:32	\mathcal{L}
<u>19832-2161</u>	10	۲.,						FINISH OPE	RATION	7	AM 6:30	
	-							RELEASED		<i>></i>	AM 7:00	ان
					-			MILES FROM	STATION TO	WELL	45	
ITEM/PRICE REF. NO.			t the written consent of an office the written consent of an offic				UNIT	GNED: (WELL OWN)	ER, OPERATOR,		RACTOR OR AGE	
PP 105	AA.	-2	CEMENT		SK	125.	/	T	2,125	<u>7</u>		
OP 103	(0)	4	POZ		ŠK	50			(00)	\sum_{i}		
CC 105	C-4				lb	30.			1200	ند		
CC 111	SAL	T				,	16	571			285	50
CC 115	<u>C-4</u>	14	- 0	· i			10	118		-	607	<u>Z</u>
CC 139	FIA	<u>-36</u>	22				16	(025		-	7/2) 75
C(C)	7716	$\frac{XX}{Z}$	BRED PLUG	51/21	1		EA	1000		+	1	/_ (X)
7 = 751	RE/1	AU V K	AR GUIDE SHI	= 51/2			FF)			+	250	\overline{x}
0 F 14151	TIAPI	ER	TUPE INSERT FL	CATVA	LUE.	5/2"	ĒA	1			215	\propto
CF 1651	TURE	SOL	12ER,51/2"		,		EH	5 2			550	\propto
CF 1901	BAS	KE.	r, 51/2"				EA				270	\propto
CC 155	≤ 0	ER	FLUSH II		*.		GAL	500.			765	2
E 100	THEK	<u>UF</u>	TOWNS IT N	VILEA!	? <u> </u>		MI	45			1911	X V
E 1121	REAL	7) (1) E	EQUIANENT M	TLEFIC	76		TM	362			57Q	
0F 005	DED	TL	CHADGE 400	<u>c</u> 1-500	Y	-	HR	1-4		_	2.520	\sim
CF 2415	BIFN	101	NG SERVICE C	HARG	<u>~</u>		SK	175	_		245	
CE 504	PLU) C	CASTAINER CHA				DB				250	De
5 (23)	SER	ÚC	E. SUPERVISO	2_			EA	1 #	/75 SUB T	OTAL,	909	
CHE	EMICAL / A	CID D	ATA:				1451:5			1h	1,00	
-		\perp				RVICE & EQUIP	MENI		X ON \$ X ON \$			
		+		-	[1417	.,			_	OTAL		
	1											

SERVICE REPRESENTATIVE THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

BASIC 10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET

PF	RESSURE PUMPII		jje 020-072-1201			DATE	TICKET NO				
DATE OF JOB		STRICT		NEW □ C	VELL□ F	PROD [] INJ	□ WDW	□ Sh	STOMER IDER NO.:	R	
CUSTOMER				LEASE WELL NO.							
ADDRESS			COUNTY	COUNTY							
CITY		STATE	SERVICE CREW								
AUTHORIZED BY		. <u></u>	, , , , , , , , , , , , , , , , , , ,	JOB TYPE:	1.19		·				
EQUIPMENT#	HRS	EQUIPMENT#	HRS EQI	JIPMENT#	HRS	TRUCK CALI		DATE	PM	ME	
<u> </u>				7. A.A. C. A.	1 - 2 - 2 - 2	ARRIVED AT	 		AM PM		
						START OPE			AM PM	,	
						FINISH OPE	HATION		AM PM	¥	
			<u> </u>				A STATION TO	WELL	AM PM	- 1	
							- TATION TO		<u> </u>		
products and/or supr	olies includes all of	ecute this contract as an ag f and only those terms and o he written consent of an offi	conditions appearing or	i the front and back	of this do	cument. No addii SIGNED:	edges that this colional or substitute	terms a	and/or condition	ns shall	
ITEM/PRICE REF. NO.	MA	ATERIAL, EQUIPMENT	AND SERVICES US	SED	UNIT	QUANTITY	UNIT PRIC	Æ	\$ AMOUN	VT.	
	13/19/19/										
er i i fa i i e		<u> </u>						1	. 1 1 2 5 1 2 5 1 5 1 5 1 5 1 5 1 5 1 5 1	-	
y [®] (° de 1	<u> </u>		· · · · · · · · · · · · · · · · · · ·	<u> </u>				++		4	
	<u> </u>		<u> </u>					+		+	
	<u>. St. A.</u> Brokov	The state of the s			1., 5.					155	
					1						
	7		*							5 5 7	
100	1 - 1 - C12	<u> Project de la companya de la compa</u>			-			$\perp \perp \downarrow$	<u></u>	<u> </u>	
								+++	- 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	-	
	<u> </u>		<u> </u>		 	1		+ +		+-	
	<u> </u>							+ 1		+	
7 177					-				$\frac{1}{2}$	1.4	
1 1/1	5.	gradukayan ne isa d	39 y 37 JX			4 1					
	918 11.		Ż.,					11		1.4	
1 11 13	1 2 3 1 1 1	<u> </u>	<u> </u>		3 1,44	1.7		+	a jaranta		
<u> </u>	<u> </u>	<u></u>			e general	1 1 1 1		+-		- 1	
		<u> </u>	<u>amiliodis singlik</u> Skawat		1 2 2	1 1 1 2 2 4 1 2 1 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	SUB T				
S CHE	MICAL / ACID DAT	Ä:					SUB I	المكار			
				RVICE & EQUIF	PMENT		X ON \$				
			M/	TERIALS							
							T	OTAL			
			•					!		: I'	

THE ABOVE MATERIAL AND SERVICE

ORDERED BY CUSTOMER AND RECEIVED BY:

SERVICE

REPRESENTATIVE



TREATMENT REPORT

Customer	101 En	15.7%	1 1/1/	Lease No.			<u> </u>	Date	,						
Lease NO. Lease NO.											12				
Field Order # Station PRATI, US. Casing / / Depth County BARBER State KS											State //<				
Type Job	211. >-	51/2	"/ <			Formation	<u>_</u>	<u> ス</u> /	Legal D	escription 3					
	NOWS_	1/5	DEODATIA	IÓ DATA	FILUS.	170 170 52.35 10									
PIPE DATA			RFORATIN		FLUID (TREATMENT RESUME RATE PRESS ISIP								
Casing Size	6		s/Ft C	111-	Acid 1,255K A	11 2	Max			5 Min.					
Depth/54.			T	0	Pre Pad	Le CUFT		1 -							
Volume 7/3/3/3	Volume Nov Bross		T	o	Frac		$\begin{array}{c} Min & \mathcal{S} & = \mathcal{A}o, \\ Avg & & \end{array}$		0,96	10 Min. 15 Min.					
Max Press			To	0	riac					Annulus Pressure					
Well Connecti	Annulus Vol.		т т	<u> </u>	Fluid 112 and		HHP Used				essure 				
Plug Depth 5		From				Flush //2 BBL		Gas Volume		Total Load					
Customer Re	· -	_	TIN		Manager ,	SCGT		Treater	KILE:	SLEY					
Service Units Driver		1		,	2 21010										
Names	CESLEY Casing	州 ARないそ Tubing	7	LAWRE	NC= -					· <u> </u>					
Time	Pressure	Pressure	Bbls. P	umped	Rate		Service Log								
1:copm	4-23-				1	ONLOCATION - SAFETY MEETIN									
2:15AM	4:24-	12			-	KUN!	KUN 113 JTS. 51/2" x 15.5 + CSG								
\longrightarrow		,				TURBO,-1,3,5,7,10									
11:0					<u> </u>	IJASK.	- 6	2 30T/141 D2 D2 011							
4:30Am						C37.	ST. ON BOTTOM-DROPBALL								
1.45AM						HOOK UPTOCSG, /BREAK CIRC. W/R									
5:40AM		2		-	<u>(</u>	SUPE	DIEK FLUSH IL								
5:42AM			$\frac{1}{2}$		6	1900 S	SPACER 11 20015 2000								
5.46Am			30		4	MIX 10	IX 105 SKS, AA-2015,3P EAR PUMPGLINE/DRUPT,R.								
5.50AM				_		CLEFIK	TUNIT	6 411	CEME	1, K.	<u> 1200</u>				
5:57Am						SIFIK	· 								
o.USAM	\mathcal{X}_{∞}		100		5	LIFT PRESSURE SLUW RATE									
0.12Am	800				<u> </u>	SUL	· · · · · · · · · · · · · · · · · · ·								
:15Am	1500		116	* 	4	200	,	J - H			<u> </u>				
:			+	, ,		CIRC.	THRU			11-0-61	<u></u>				
		·	(0,1	1	. 91	1201	R.H.	300	$\frac{4}{2}$	60/40	OPOC				
			+	- <u> </u>		JOB COMPLETE,									
						THANKS-									
					KEVENLESLEY										
	·			+ .	•			-			· · · · ·				
10244	1 NE Hiw	av 61 •	P.O. Bo	x 8613 •	Pratt, KS 6	7124-861	3 • (620)	672-1	201 • Fax	x (620) 6	72-5383				

Conservation Division Finney State Office Building 130 S. Market, Rm. 2078 Wichita, KS 67202-3802



Phone: 316-337-6200 Fax: 316-337-6211 http://kcc.ks.gov/

Sam Brownback, Governor

Mark Sievers, Chairman Ward Loyd, Commissioner Thomas E. Wright, Commissioner

May 24, 2012

TODD ALLAM Val Energy, Inc. 200 W DOUGLAS AVE STE 520 WICHITA, KS 67202-3005

Re: ACO1 API 15-007-23862-00-00 CIRCLE INDUSTRIES 4-32 SW/4 Sec.32-33S-10W Barber County, Kansas

Dear Production Department:

We are herewith requesting that the Well Completion Form ACO-1 and attached information for the subject well be held confidential for a period of two years.

Should you have any questions or need additional information regarding subject well, please contact our office.

Respectfully, TODD ALLAM